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With these new coordinates, the equations (4) and (3) beccme

(6)
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_EN = 1. (7
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The dots represent in these equations derivatives with respect to T. By making

use of the similarity properties of these equations, they can be reduced to the

first order. The appropriate transformations are the following

= e23+2q "= e28~2q )
E 7 d

l}ps—-’--—- rg-—g
vVE 1 ae

By substitution one obtains the following equation of the first order
. . o I ‘. S L
= = (3+r)(tgh2q-%r), (9)
)

"

| T dq
and also the additional equations
_ , .
P e s ; £ e (1 +7r)
/6(3 + re) cosh 2q VE /2(3 + r2) cosh 2q (
‘ : : 10)
_j_ o el (1-1)
4 J2(3 + r2) cosh 29 '
)
solution

which cen be used in passing from the solution of equation (9) to the

of Our'physical problem.




